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General instructions :

qH= Hee
(i) All questions are Compulsory.
a1 ge arfard €|

(ii) Marks for each question is indicatéd against it.
UAS U & AT b qRITAT AT R |
(i) Question Nos. 1 to 8 are multiple Choice Type which carry 1 mark each.

U AT 1 9 8 O TEASHAUN Yo & RS ud &7 7419 1 3o 2 |

(iv)  Question Nos. 9 to 15 are very short Answer Type which carry 1 mark each.

T W1 9 ¥ 15 O A Y S T ¥ e ulde &1 A 1
3 2 |

(v)  Question Nos. 16 to 23 are short Answer Type -l which carry 2 marks each.

Ue HEAT 16 ¥ 23 T oY ST - | U ¥ R ud B A 2 i
? |
(vi)  Question Nos. 24 to 31 are short Answer Type - Il which carry 3 marks each.

UeT T 24 W 31 OF Y ST - 199 & a1 ude & A9 3 s

=

(vii) Question Nos. 32 to 34 are Long Answer Type which carry 5 marks each.



U AT 32 | 34 TP A IR Y & DT 9P & 919 5 3iF
&

(Multiple Choice Type Question)

CRECZSIREES)

The number of particles in a simple cubic (bcc) unit cell is

(a) One (b) Two

(c) Three (d) Four

W TR UEd P ¥ B HU @) e Bl 2 :

(a) TP (b) <1

(c) T (d) @R

Unit of rate Constant for second order reaction , k is 1

(a) 72 (b) mol™2L s~2

(e} mal* 1% v (d)mol L™ s71

fera wife arfdfhar & fou a7 Rerie, k@t 3aTE @

(a)s™1 (b) mol™L s71

(e} mol™* 1* 73 (d)mol L™t s~1

©_ Br + 2Na + @Br Dry ether +2Na Br
The reaction is. 1

(a) Wurtz reaction (b) Fittig reaction

(c) Finkelstein reaction (d) Etard reaction

)— Br+2Na+ ) Br I R +2Na Br

(a) gSoi rfafehar (b) fHErT arfafehar
(c) e arfafeman CIESSECIRIER]
Haematite is an ore of 1
(a) Al (b) Zn
. (c) Fe (d) Cu



BHICISC 3UH &

(a) Al (b) Zn

(c) Fe (d) Cu

When Ethyl alcohol in excess is heated to 140°C with cone. H,So, the product
formed is 1
(a) Ethyl Sulphate (b) Diethyl ether

(c) Ethane (d) Ethanoyl Sulphate

T IS I A YIS Uepled @l SIf¥ar @I 140° W H,So, &
AT TH FRd B

(a) TRYET Hewe (b) STETrer $orR

(c) QeI (d) QTS Hehe

The hybridisation of Xe F is : 1
(a) sp® (b) spd?

(c) sp3d? (d) sp3d

Xe F, BT THHRIT &

(a) sp° (b) sp>d?

(c) sp3d? (d) sp3d

Tollen's reagent is 1

(a) Mixture of Cu So, and Na oH

(b) Ammonical silver nitrate solution

(c) A solution of copper sulphate, sodium citrate and sodium carbonate
(d) None of these

el &7 ifeH® &

(a) Cu So, TAT Na oH T fAsror

(b) 3R T Rieer Asge e

(c) PR Hthe, AIfSTH Wgee TAT AISTH Hrai-e &1 faags
(d) 7 & P TE



10.

11.

12.

13.

14,

15.

Consider the following reaction

CH; COOH NHs & X
heat

The product 'X' is
(a) Ethanamine (b) Methanamine
(c) Acetamide (d) None of these
= afafhar R faamR &
CH; COOH NHs .
G X' B
(a) TS (b) HITHTE
(BRNEEEIES (d) 3 | IS 7l

(Very short Answer Type Questions)

(arfy g IR we)

For the reaction 2 NO + Br, = 2 NO Br what is the order of reaction?
HWAfHAT 2 NO + Br, » 2 NO Br & foru aififear &) ife ar 22
Write the diseases caused by deficiency of Vitamine C.

faeri= ¢ & HH | D9 A1 T BT ® ford |

What is the Particle Size of Suspension?

e & $U & MHR R BT 27

What is the use of Polythene?

Uielief= &1 SUIRT @ 87

Write IUPAC name of CH; - C - (C,Hs), - CH, - Br

CH; - C - (CoHs), - CH, - Br &1 3TgoYolloYodlo AT ford |

Give one example of Monosaccharides.

o V. k. TG

AFRIBRISSH B Uh IaTEvv < |

Give an example of antibiotics.
yfieifd® &7 Udh SR < |

(Short Answer Type | Questions)



(eTg SR 1 999)
16.  Distinguish between electronic Conduction and electrolytic Conduction.

ST ATSThaT T Jgaarvaes areiear § fve & |

17. What is difference between minerals and ores?

QTS Td 3% | T R 27,

18.  Complete the following :
(i) C+H, SO, —
(i)  NaHSO3+HCI -
fer=iforiaa &1 @1 &% - 141=2
(i) C+H, SO, -
(i)  Na HSO3+HCl -
19.  Give reasons for the following

(@)  Transition metal and many of their Compounds show paramagnetic

behaviour.

(b)  The enthalpies of atomisation of transition metal are high.

fFrfaRad & @R gary
(a)  |HAU UG SR WS ARHE AE gES B 2|
(b)  AHHUT UG B FHUH T B 9 I=d BN & |

20.  Complete the following : 1+1=2
R L S S
. Peroxide
(i) CyHsl, AgCN (alc)
FrefeRad a1 g &9 v
() CHy+CH =CH, MB" |
RiFEE
(i)  CHsl, AgCN (alc)

v

21.  What happens when glucose is treated with the following reagent? 1+1=2



22,

23.

24,

23,

26.

27.

(i) HI (ii) Bromine
T BIAT & S To[dial @l Afifssar f=ferRad sifere @ 9 g &7

I(i)Hf (ii) ST
Write the name and formula of monomer of the polymer, Polystyrene. 1+1=2
dg T, UifeReIgde & Udhald &1 A1 il gF ford |
Wri'ée briefly with one example in each case. 1+1=2
(i) Tranquillizers (ii) Antifertility drugs.
e # U IR & ey ford |
URNINES (ii) TSI eram aftwer

(Short Answer Type Il Questions)

(oTg SN 1199 )

Copper Crystallises into a fcc lattice with edge length 3.61 X 10 8cm.

Calculate the density of the unit cell. Given that atomic mass of Copper is
63.5 g mol™t

PR fec STTe® w0 H Bl g & e &R & =8 3.61 X

107%cm B | 39 Udhd DIfCHT & a-cd ol o fBforg | f3ar gam 2
PR & GRHINTH GTHT 63.5 g mol 1 B |

Differentiate between order and mole cularity of reaction. 3
sfafear @t @Ife qen anfdaemar # awR 9ard |
Define any two of the following terms. 3

(i) Lyophobic Sol (ii) Multimolecular Colloid
(iii) Adsorbent

ﬁﬁ%{ﬁgﬁ%vﬁa‘r%i@aﬁvﬁmﬁﬁﬁﬁﬁﬁm 1%+ 1%=3
(i) SIS AT (ii) 98 3MUa® Blciizs
(iii) STfereTy®

How will you bring about the following transformation? 1+1+1=3




28.

29,

30.

(i) hexaammine to Ethanol (ii) Phenol to Aniline
(iii.) Diethyl ether to Ethanol
fferRad aRad= Mg & dva?

(i) TAATHTST ¥ THTA (i) BT & THIAH
(i) STSU SR | UIHTA

Write the formula for the following Complex Compound.

(i) Hexa aminine Cobalt (lll) chloride

(ii) Penta ammine chlorido Cobalt (IIl) chloride
(iii) Potassium tetra cyano nickelate (o)
fre=feraa sifea Afres @1 g1 fored |

(i) BT THIF BIaTee () FARTSS

(ii) U=CT THIF FARTS! dIEree (1Il) TARSS
(iii) drenfRrm SgrmrAT fdere (o)

1+1+1=3

What is the difference between emf and potential difference? 1+1+1=3

SoUHoUTo T4 fawaiay # T afcR 87

Complete the following
NH;

(i) Br,/(aq)
Excess

v

(ii) CHsCONH, Br,/KOH

(i) ‘ Cu CN
Pvridine

T
i
2

A

L 4

(i v Br,/(aq)
Excess

(ii) CHsCONH, Br,/KOH

N\
v

v

1+1+1=3



31.

32.

A 4

N=N-cl
(iif) @ Cu CN
< faRfe

Complete the following reaction :
(i) €r,07%(aq) + H,S(g) + H*(aq) -
(i) CU?*(aq) + I~ (aq) -
(iii)) M,0,~ + S, 0, + Hy0 >
Pret afifbar &) of o -
(i) €207 (aq) + H,5(g) + H*(aq) -
(i) CU**(aq) + I~ (aq) —
(i) M,0,~ + S, 05% + Hy0 »
(Long Answer Type Question)

CEESERER )
(i) What is Henry's Law? 1+1+1=3
(i) The vapour pressure of Pure Water at 20°C is 17.5 mm of Hg. A Soulution
of Sucrose is Prepared by dissolving 68.4 g of Sucrose in 1000 g of Water.
Caculate the vapour Pressure of the Solution.
(i) 81 &1 e ar 82
(i) 20°C R Y& T BT 919 &4 YR & T4 B XX & | 1000 g oiel F
68.4 g hIST DI "I fIom= &l TR a1 @rar 2| e & @
S19 &1 AT BT |

OR/311d1
Show that for a first order reaction, time required for 99.9% of the reaction to

take place is 10 times the time required for the completion of halt of the

reaction. 2+3 =5

fsit verm Pife aififbar & forg qwifsy % 99.0% affsar & of 21 4
T HHY, ST SfAfhar & gof B9 F o Wy W 10 T e &1 s



33.

34.

Draw the Structures of the following Compounds.

(i) Xe F, (i) H, SO4

(iii) H3 PO, (iv) N, O

(v) PH;

fr=iferRaa difret &) weamn CRIDE 1+5=5
(i) Xe F, (ii) H, SO,

(iii) H; PO, (iv) N, Oy

(v) PH,

OR/31dr

Give the Principle with equation for mannufacture of nitric acid by ostwald

process. what happen's when HNO; reacts with (i) Zn (ii) H,s?

mﬁ@mwﬁﬁwﬁwzﬁmwzﬁwu%ﬁ
< | 1 BT 8 519 HNO, Sffhar @xar 2 (i) zn (ii) Hys?

Complete the following reactions : 3+2=5

FreferRae aiftfar 1 qof ¥ -

(l} [TA‘\ CH,0H Cu/573K o

L
(ii) @C‘”HH] Zn\Hg/Hcl
e >

(iii) HCO o Distillation

A\ 4

Ca
Hcoo /
0

i |l dP
(iv) C.cH, +HI Re
420 K
(v) » CH,0H +[0] Alkaline KMnO4
y ST CH
LS >

A J




OR/31qdT

Write short notes on any three of the following Ix5=5
(i) Wurtz reaction (ii) William son's synthesis
(iii) Mendius reaction (iv) Friedel Craft reaction

ﬁﬁ%ﬁﬁﬁﬁ?ﬁ%ﬁqwmﬁﬁmﬂﬁﬁﬂﬁ: 1%+1%+2=5
(i) g1 rfaferar (i) faforra=g arfifpar
(iii) ATy srfafarar (iv) lhed s1oe sifafasar

10



2018 clAss - 12"

Chemistry ST - D3
(Compulsory)

Full Marks - 70

Pass Marks - 23
Time - 3 Hours

General instructions :

HTHTT Iz’léﬁl 5
(i) All questions are Compulsory.
Y geT rfyard € |

(ii) Marks for each question is indicated against it.

Udd U & GHT 3P SIiar AT § |

(iii)  Question Nos. 1 to 8 are multiple Choice Type which carry 1 mark each.

U AT 1 W 8 T agfdbedid U & NidT Ydd &l A 1 b & |

(iv)  Question Nos. 9 to 15 are very short Answer Type which carry 1 mark each.
U G 9 9§ 15 A Jffd oY SN U & @1 gdd @1 A
3F 7 |

(v) Question Nos. 16 to 23 are short Answer Type -| which carry 2 marks each.

TS AT 16 § 23 TP ol I - | G 7 O] YD HT A4 2 b
2 |
(vi)  Question Nos. 24 to 31 are short Answer Type - Il which carry 3 marks each.
U3 AT 24 F 31 TP oY AN - 19T & [T YD $T 9149 3 3
gl
(vii) .Quelstion Nos. 32 to 34 are Long Answer Type which carry 5 marks each.
U HET 32 9 34 TF drd IR U 8 SR gdd @1 A 5 b
gl



(Multiple Choice Type Question)

CHEETLIRAES)
The number of particles in a face centred cubic (fcc) unit cell is 1
(a) One (b) Two
(c) Three (d) Four
Bad divad G917 (fec) Thd PICHT H HeT BN Pl GeT Bl 2
(a) TP (b) &1
(c) = (d) TR
For the reaction N,(g) + 3H,(g) —» 2NH;(g), the correct expression for the
rate of reaction is .3
1 d[H
(a) rate = +% (b) rate = —E.—[Et—zl
d|NH
(c) rate ::4—§.Eg%ﬂ (d) Trate = 4——%ﬁfﬂ

tafspar N,(g) + 3H,(g) -» 2NH,(g) @ v ifwfehar &1 9 &1 wel
STh &

d[N 1 d[H
(a) i = 4 E2l [ 2] (b)%ﬂT——— Eﬁz]
d d[NH
o) 3T = -I-l [Piz] (d) i = + ANl [ 3]
The formula of orthophosphoric acid is 1
AT TepIR® et &1 G & -
(a) 0 (b) 0
H-P-OH B
I
|_l| OH
0
(c) I (d) D
HO-T-OH HO - P - OOH
OH O1H



Bauxite is an ore of
(a) Al (b) Cu
(c) Zn (d) Fe

dfRATSC 3TF &

(a) Al &1 (b) Cu &1
(c) Zn &1 (d) Fe T

Which among the following is used in refrigerators for cooling purpose?

(a) Chloroform (b) Freon 12

(c) lodoform (d) DDT

v & fory frafafea & @ feaer Sughn Wwhonest # 2t 2?
(a) FARIBTH (b) W31 12

(c) ITATSTTH (d) SToSToTlo

Aspirin is an acetylation product of

(a) p - Dihydroxy benzene (b) m - Hydroxybenzoic acid

(c) o - Dihydroxybenzene (d) o - Hydroxybenzoic acid.

YRaRE Teflergere Swre 2

(a) p - STEETSSIAAIGGIT BT (b) m - ETSSIANGTAISH 37 Pl

(c) o - SEETZSIRIGSIT BT (d) o - BISSIRIISSIIZDH T BT

Which one of the following is not a protein?

(a) Wool (b) Nail

(c) Hair (d) DNA

fF=fofad 4 9 o Nid == 22

(a) & (b) T

(c) aTed (d) SToU=oTo

Which of the following is artificial sweetening agent?
(a) Aspartame (b) Seconal

(c) Aspirin (d) Sodium benzoate



10.

1.1,

12,

13.

14.

15.

16.

17.

Frfafad 3 & B Bim wwm 27
(a) TEATEH (b) HPITer
(c) TR (d) SfETH deiive

(Very short Answer Type Questions)

(@1fer g SR g9=)

What is the unit of rate constant for first order reaction? 1
T HIfe B AMfHaT & 1w a7 ReRis &1 sore @7 27
What is catalyst? 1
SRS T 87
Arrange C,HsCl, C,HsBr and C,Hsl in increasing order of their boiling
Points. 1
CyHsCl, C,HsBr Td C,Hs] &1 S9& 960 gV HauHid & HH § HolTd |
Chloroacetic acid is more acidic than acetic acid. Give reason. 1
TiIfed 3t &) oI H FARITHICS el SATT el 8 | BROT g |
Write IUPAC name of (CH3)ZCHNH2. 1
(CH3),CHNH, &T IUPAC 919 fored |

Write down the name of the product obtained on hydrolysis of sucrose. 1

I B STellid JUee |y ggrel o1 4 ford |

What is Bakelite? 1
ddhelge Tl 87
(Short Answer Type | Questions)
(cTg STRIT | 9e)
What is salt bridge? Mention its functions. 1+1=2

oTqUT A FT 8?7 $HD Bl BT Soold B |
Why Cryolite and fluorspar are mixed with pure alumina during electrolysis? 2

dgd uEed & ARM Y TG F Brilelze T4 FelR@Rr @& Wi
fby St &7




18.

15

20.

21.

22.

23.

24,

What are interhalogen compounds? Give Some examples. 1+1=2

gcReale Afe 71 27 598 7B SR &)

Give reasons for the following : 1+1=2
(i) Transition metals are hard.

(i) Zn** Salts are colourless.

fF=fefia & sror qar

(i) HHHIT €T HSR BT ¥ |

(ii) Zn** & @G0T TTEA Bl § |

What happens when : 1+1=2
(i) Ethyl iodide is treated with sodium in presence of dry ether?

(ii) Ethyl bromide is heated with moist silver oxide?

T BT & o9

(i) TRret SraieTEs B b I Sor 1 SuReIfy ¥ WfREE & @
BRI T 87

(i) TRYeT SIS A THgw Riear sifavrse S A1 T fhar ofrar 27

Give one example each for disaccharides and polysaccharides. 1+1=2
SIFHINES U4 UefiaIEs BT 16—Ta Iy |

What is Vulcanisation of rubber? Write the main purpose of Vulcanisation of
rubber. 1+1=2
YR BT TG FT 87 R S TohNHR0T ST q 92 o |

How are Synthetic detergents better than Soaps? 2

AT BT o1 4 WY aqats 39 o &2
(Short Answer Type Il Questions)
(T STRIY 117e )

Represent and write the net cell reaction of Zn — Cu S0, Cell. 1%2+1%=3

Zn — Cu SO, el &1 frouvr a3 ug Wer arfifhar ford |



25.

26.

¥,

28.

29;

30.

Give differences between crystalline solids and amorphous Solids.

fohvcaild 31 Ug a1fshecoll 319 ® 3ax dar |

A first order reaction has a rate constant of 1073 S~1. How much time will it

take for 10 g of the reactant to reduce to 2.5 g?

.

go¥ BIfC 31 TP fAfhar &1 97 Reis 1073 51 2| 10 g IMHRS

€S BN 2.5g 8 A fhadr GHg o T?
Explain any two of the following terms :

(i) Tyndall effect |

(ii) Brownian movement

(iii) Electrophoresis

frferfRaa & fb=81 a1 usl @1 e o -
(i) fevsa uyrg

(i) ST i

(i) dETDHYT FaerH

Describe the preparation of KMnO, from Pyrolusite ore.

UIGRISETEE FAD H KMn0, 99 &7 aui o |
Explain any two of the following with examples :

(i) Ligand

(i) Coordination sphere

(iii) Coordination number.

frforRead # & f&5= <1 &1 ISaERe =T - ¢
(i) ferts

(i) STFEHUINT HUS

(iii) SUFEHATS T

Write the mechanism of dehydration of ethanol.

THTel @ fAsieliavor @ fhamfafer o ford |

1%+1%=3

14+1%=3



31.

32.

Write Short notes on two of the following: 1%+1%=3
(i) Carbylamine reaction
(if) Hofmann's bromamide reaction
(iii) Coupling reaction.
fr=foRad # 5l @1 w Wt Rwdh forg
(i) SrfdeTyH= rfafesar
(ii) BTHAM SHTHSS Sfafdar
(i) g rfafesar

| (Long Answer Type Question)

CEESRE R ES)

(i) Define Osmosis and osmotic Pressure. 2+3=5
(ii) 200 cm?® of an aqueous solution of a protein contains 1.26 g of the protein.

The osmotic pressure of such a solution at 300 k is found to be 2.57 x 10~?

bar. Calculate the molar mass of the protein.
(i) IRTARYT U URIAROT 79 Dl gR¥TYT & |
(i) TP UIEH & STeird o™ & 200 cm® ¥ GIEN #T 1.26 g ¥ 1 300k W
g9 fIerad &1 WRMRET T 2.57 x 1073 bar URIT TRT ¥ | WIEN B HioR
SH Bl ITUET PN |

OR/3AdT
(i) What do you mean by boiling point and elevation of boiling point?
(i) The boiling point of benzene is 353.23 k. When 1.80 g of a non-volatile
solute was dissolved in 90 g of benzene, the boiling point is raised to 354.11 k.
Calculate the molar mass of the solute. K, for benzene is 2.53 k kg mol™.
(i) FEUIH TG FaIId—3~1a- § Y R AT &7
(i) S5 &7 F9UHTP 353.23 k2| 90 g o & fpdl ararweie fog &

1.80 g B o™ W fIeE &1 w@UHid 98 H 354.11 k & ST 2| 99



33,

34.

ﬁ:ﬁﬁa%nﬁa?amﬁwzﬁﬂétﬁﬁzﬁfmkbaﬂw

2.53 kkgmol™ 2|

Give the principle involved in manufacture of ammonia. 3+141=5
How does it react with (i) excess of Cl,and (i) Ag Cl (8)?

I & S A fARd Rigra o1 Soorg a5y |
TE (i) Cl, BT AferpaT UF (i) Ag CI(S) ¥ f5a goR ffpar swar 27
OR/372fdT

Discuss the general characteristics of Group 16 Elements with reference to (i)
Oxidation state (ii) ionisation enthalpy and (iii) electron gain enthalpy.

Tt 16 & Tl D AHIN TURHT BT ITD (i) ATRABOT arawer (ii) ST+
Tl g (iii) Soae Ui T @ wed § fAdgr oy |

Complete the following reactions : 5
feriferaa siffesar &t qof & -
() CH;COOH + PClg -
(iii) (CH3€00),Ca + (HC00),Ca AN
| OOH A\
(iv) Conc. H NO5/
Conc. H,S04
0
|

(v) @:Hc-oczm HO/HY

OR/37dr

»

How will you convert the following?

(i) Acetic acid to acetamide tii) Acetic acid to methane



(iii) Toluene to benzoic acid (iv) Acetylene to acetaldehyde

(v) Acetaldehyde to ethyl alcohol

FrfoRaa uRads w1 a2
() TEIfe® ot & TRilers (i) iR are KR
(iii) STe[g & §WiIgd v (iv) THIfeela | wiefoerree

(v) THicfesess & Ui vowmiete

1x5=5
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(Compulsory)
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General instructions :

= e
(i) All questions are Compulsory.
it yee arfrard €

(ii) Marks for each guestion is indicated against it.

TS U & A 3fd I AT 8 |
(iii)  Question Nos. 1 to 8 are multiple Choice Type which carry 1 mark each.
U WET 1 9 8 OF qgdbeurd U & e e &1 A1 1 3b B |
(iv)  Question Nos. 9 to 15 are very short Answer Type which carry 1 mark each.
U G 9 ¥ 15 O A g IO U § ST ydd b1 A 1
3P B |

(v) Question Nos. 16’*:0 23 are short Answer Type -I which carry 2 marks each.
Te &I 16 W 23 TP g I -1 9 8 T U &l A7 2 b
&l

(vi)  Question Nos. 24 to 31 are short Answer Type - Il which carry 3 marks each.

UYT T 24 ¥ 31 TP g SN - 19§ Rl GRS B A 3 3D
e |
(vii) Question Nos. 32 to 34 are Long Answer Type which carry 5 marks each.

Yo T 32 ¥ 34 9 ord I U 2 fFdT ude BT "H 5 3P
2l




(Multiple Choice Type Question)
(38 fawcdy ye)

Graphite is an example of

(a) lonic Solid (b) Covalent Solid
(c) Molecular Solid (d) Metallic Solid
Ul IER &

(a) ITAFH S BT (b) FEEATS ST BT
(c) 3fda®s a1 &1 (d) enfeas 3 &1
The molecularity of a reaction cannot be

(a) Zero (b) One

(c) Two (d) Three

Jrfafhar o1 3Mfogedr &l & |adl &

(a) =T (b) TP

(c) & (d) <

Among the halogen acids the one which is weakest is
(a) HF (b) HCI

(c)HBr (d) HI

1 geflor orFell H e dd oret &

(a) HF (b) HCI

(c)HBr (d) HI

Sulphide ores are generally concentrated by

(a) Froth floatation process. (b) Gravity separation method

(c) Magnetic separation method (d) None of these

ehISS DI BT ARl UT: fhar e &
(a) B wrae fafr gmr (b) THE gUgERYT fafyr gwr
(c) T gUadHRol Ay g1 (d) 379 9 5l @ gr 7@




Which compound among the following is of highest boiling point?

(a) CH;CH,CH,Cl (b) CH3CH,CH,CH,Cl
(c) CH3;CH(CH3)CH,Cl (d) (CH;3)5Cl
e & & f5a Afre &1 F9udie dad e 27
(a) CH;CH,CH,Cl (b) CH;CH,CH,CH,Cl
(c) CH3CH(CH;)CH,CI (d) (CH5)4Cl

Phenol is less acidic than

(a) Ethanol (b) Methanol

(c) P - Nitrophenol (d) P - methylphenol
BT &4 T 7

(a) TIHTT | (b) AT A

(c) P - TSSTBIHT A (d) P - AfrTBIAT A

Enzymes are

(a) Carbohydrates (b) Proteins

(c) Vitamins (d) None of these
TS ©

(a) PaETSSC (b) WTET

(c) fareTfim — (d) 39 W BIg &I
The compound @fcocm isan

(aAntiseptic (b) Antibiotic

(c) Analgesic COCH; (d) Antacid

BIRIES C&’COOH :

(a) gl (b) gfertfaen

(c) UTSTET] (d) queTiis



10.

11,

(Very short Answer Type Questions)
(3rfer g IR we)

Mention any two factors affecting rate of chemical reaction.

IS FAfAfFIT & I B guIfad B arel fH S NPT BT Ioorg

N |

What is gold number?

wqof weer T 27

Write IUPAC name of CHs
CH3-L-CH2-Br

CH; ]
[ CHs;

CH;-C-CH,-Br T IUPAC ™ ford |

12.

13

14.

15.

CH;

Write any two uses of formaldehyde.

BTHCSEgS & ol al IUANT &I fored |

Ethylamine is soluble in water whereas aniline is not. Give reason.
TIYTTHIA STet # fdeld 8 o9 % ufvefi 981 | sror 9ard |
Whate is peptide linkage?

UeTge 9 T 87

Write the name and formula of monomer of Teflon.

CHhad & Udhdd & A U4 g B fordd |



16.

1.

18.

19.

20.

21.

(Short Answer Type | Questions)
(erg ST 1 9%)
What is the effect of (i) nature of liquid and (ii) temperature on vapour

pressure of the liquid? 1+1=2
%9 P AIYSd W (i) §T B UBMA T (i) A9 BT T 9AT g 27

(i) Write name and formula of an ore of Copper. 1+1=2
(ii) Give one example of flux.

(i) AT & U 3T BT 19 Td 3 fordd |

(i) T BT TH ISR & |

Draw the Structure of the following compounds : 1+1=2
frefeRRad aifirel @ e a9

(i) H, SO,

(i) H; PO,

Give reason for the following : 1+1=2

(i) Transion metals form a large nurhber of complex compounds.

(ii) Complexes of transition metals are generally paramagnetic.
fr=fefad & &ror s -

(i) \hHTT g1 BT Fe § Sfed e a9 &

(i) FHHOT €T & Sifee A U ST B & |

What happens when : 1+1=2

(i) Ethyl bromide is heated with sodium ethoxide?

(i) Ethyl bromide is heated with alcoholic solution of KOH?

T BIAT & 919
(i) TRrer AT B AifeTd valaEe @ At T fRAr oer 27
(i) Tforet SHISS BT KOH & Tedlgiferd fderas & |1F T fbar Siar 27

Give one example each for water soluble vitamins and fat soluble vitamins.



22.

23.

24,

25.

26.

27

28.

141=2
i ¥ fora faef@= vd awr & o fAef= &1 ve—ve Sarewor < |

Write any two differences between thermoplastics and thermosetting

polymers. 141=2
qHIRED Ud AT dgad W BIg af 3R ford |
What are soaps? why do soaps not work in hard water? 1+1=2

g T 2?7 WigT HOR el § H1d Tt T8 PR 27
(Short Answer Type Il Questions)
(eTg ST 1 yeA)
What are colligative properties? mention the various types of colligative
properties. 1+2=3
VA U T 87 U U B AR UHRT BT Sooikg oY |

Silver crystallises in CCP lattice and the edge length of its unit cell is 408.6 Pm.

Calculate the density of silver. (Atomic mars of silver = 107.9 u) 3

ATEl BT fhveolldbRUT CCP WTeld ¥ BIAT & 3R D UHd BIRSHT & BRI
&1 TS 408.6 Pm e | TGl & ©9cd P TUMFT PN |
(dT<T BT URHTY] TegHI = 107.9 u)

Define order of reaction. Give one example each of zero order reaction and

first order reaction. 1+1+1=3
aifafbar @1 Pife w1 aRaIfNa & | g Sife @1 affsar 1g gow sife
©1 AATHAT BT Th—Td IGEI S |

Compare the properties of physisorption and chemisorption.

Wi freNeor v e Sfier & O @) qer B |

(i) What is lanthanoid contraction? 1+1+1=3
(i) What is the cause of it?

(iii) Which is the most common oxidation state of lanthanoids.



29,

30.

31,

(i) oIS Haad @ 87
(ii) $EDT DR T &? |
(iii) SFRHTIST B TR T ARABROT =R R 22

(i) Draw figure to show the splitting of d - orbitals in an octahedral crystal
field. 1%+1%=3

(ii) Complex compounds are generally coloured. why?

(i) SrEHAD fhecer &3 ¥ d - Ferd @ faured & <o & forv R
g |

(ii) e Afre ura: i B €| w9

How will you convert the following?

(i) Ethyl alcohol to diethyl ether

(ii) Ethyl alcohol to acetaldehyde

(iii) Phenol to benzene

fFfaRed aRads &9 a¥?

(i) Uil Uoplaial 9§ SISl $oR

(ii) UfreT Tedlela W tdicfeease

(iii) BT & i

What are amines? How are they classified? Give one example of each.

1+1+1=3
THH 97 87 3% &9 Jifigd fHar 17 27 Yd BT Uh—Ud SeTER T |




32.

33.

(Long Answer Type Question)
(&rd I g9
(i) State Kohlrausch's law. 1+1+1=3
(i) The conductivity of 0.001 mol L™ solution of CH3COOH is 3.905 x
107 s cm™'. Calculate the molar conductivity (/\ m) and degree of
dissociation (x ).
Given APH* =349.6 S cm®mol ™!
APCH3C00™ = 40.9. S cm®>mol~1

(i) PIoRTE & fraw &1 o |
(i) CH;COOH @& 0.001mol L! fdemm &) e =radar 3.905 x
107 s cm™ €| HIeR ST (Am) Td AT &) A= @) TR B |

APH* = 349.6 S cm?*mol~1
APCH;C00™ = 40.9. S cm*mol=1!
OR/31erdT
(i) State faraday's laws of electrolysis.
(i) A solution of Cu S0, is electrolysed for 10 minutes with a current of 1.5
am[:ieres. Calculate the mass of copper deposited at the cathode.

(Atomic mass of Cu = 63.5)

(i) BRI & A 3rvEed & e By ford |

(i) CuS0, & U&h faad § 1.50ARR &7 a~T 10 e 9% gaed &
IEd JuEe far ST R | Helle W qad A B AE B TR 3|
(Cu T IRHTY] ST = 63.5)

Give the principle involved in manufacture of sulphuric acid by contact

process. How does it react with (i) Cu and (ii) Na CI? 2+3=5



34.

W faft & R el & Seared # fifed frer @1 ford |
T8 (i) Cud (i) Na C1 9 f&q gor sifafear swwar 87
OR/3121d1
Complete and balance the following reactions :
Freffaa arftfarall o1 qof Td wqfer o -
(i) Ba (N3), heat
(ii) P, + NaOH + H,0_heat

B e
(iii) Ca(OH), + Cl, 313K
(iv) NaOH + ClL, S—
(cold & dilute)
(v) XeFg + 3H,0 e
Complete the following reactions : 1x5=5
(i) CH;COOH + SOCl,——
[iijCH, —L'=0l44, Fe-Sasty
(i) CH;CH,OH Cu/Ag; 573K ~

(iv) @ +CH, _% —CL_Anh. AlCl;

(v) CH;COOH + C,HsOH  Conc. H,S0,

ORy/31qdT
Write short notes on any three of the following :
(i) Aldol condensation (ii) Cannizzaro's reaction
(iii) Clemensen's reduction (iv) Hell - volhard - zelinsky reaction. 1%+1%+2=5
fFefoiaa 4 4 fdl 9 = wfera fewoh ford
(i) TesTel A= (ii) DFSTRT arfaferar
(i) FITHAT BT U= (iv) BT—dlcaTe—uilfol~dd! rfafshar
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=y Ay

(i)

(ii)

(iii)

(iv)
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gl
~(vii)

All questions are Compulsory.
a1 ge arfrard €

Marks for each question is indicated against it.

UG U B AW b ST AT B |

Question Nos. 1 to 8 are multiple Choice Type which carry 1 mark each.

TR T 1 W 8 b agfidmedrd we & T udlie @7 419 1 o7
Question Nos. 9 to 15 are very short Answer Type which carry 1 mark each.
U W 9 W 15 9% JIfd Y Iy g ¥ Rer udd $1 a4 1
3 3 |

Question Nos. 16 to 23 are short Answer Type -| which carry 2 marks each.
TS HEAT 16 | 23 TP oY I - | U & a1 g &1 7 2 i
2 |

Question Nos. 24 to 31 are short Answer Type - Il which carry 3 marks each.

U AT 24 | 31 TP oY SO - W9 & e uds &1 79 3w

Question Nos. 32 to 34 are Long Answer Type which carry 5 marks each.
U AT 32 ¥ 34 OF d4rd IO 9o & RiFer ude &7 99 5 3
g |



(Multiple Choice Type Question)

(ggfameda yee)

The number of particles in a body centred cubic (bcc) unit cell is

(a) One (b) Two

(c) Three (d) Four

RSl B U PICHT § Hel SV &) G&T 21 2
(a) U (b) &1

(c) 1= (d) TR

Unit of rate Constant for first order reaction , k is

(a) s7* (b) mol™L s1
(c)mol™2 L% s (dymol ™1 st
g Pife aifafhar & forg 9 Reriss, kY ga1E 2
(a) s~1 (b) mol™tL st
(c) mol™% L% s~1 (dymol L™t st

Ethyl bromide reacts with silver nitrite to form

(a) Nitro ethane (b) Ethane

(c) Ethyl nitrite (d) Nitro ethane and ethyl nitrite
Riear sgIEe W IfAfhar ox e dwEs 99T

(2) ST T (b) Q2T

(c) Tfret ATEgETEe (d) TTERT TAF v Ut ATERTSe
Calamine is an ore of

(a) Al (b) Zn

(c) Fe (d) Cu

DeHIgT AR B

(a) Al (b) Zn

(c) Fe (d) Cu






10.

11.

12,

5 2

14.

15.

16.

T IUIE g A ASET U BT Li Al H, D 7T AMBHAT HT S

g
(a) 7T Tfa= (b) Tferer ufA=
(c) T (d) THICTHTSS

(Very short Answer Type Questions)
(@1fer org ST W)

For the reaction NH, No, = N, + 2H,0, what is the order of reaction?
HAfHAT NH, No, - N, + 2H,0, B forq aififear & sife aar &7
Write the diseases caused by deficiency of Vitamine k.
e k& & ¥ S |1 I BT 2 ford |
What is the Particle Size of true solution?
arxifde fdergT & FHO1 FT AMHR F47 8IaT 87
What is the use of NyLon - 667
AT — 66 BT SUANT HT 27
Write IUPAC name of CH; - CH, - C (CH3), - CH, - 1
CHs - CH, - C (CH3), - CH, - 1 T 3MSoYoUloToilo AT ford |

Give one example of Oligosaccharides.

ARTADUEEH BT b IGTENT ¢ |
Give an example of antacids.
yfceTe &1 & SQTER ¢ |

(Short Answer Type | Questions)

(cTg ST 1 9%A)

What do you mean by strong electrolytes and weak electrolytes. Give example

of each. 1+1=2
Udel g IUECd] TAT qadl dEd AUHcdl | 39 T WA 8° YD
I IETEXT < |

What is difference between calcination and roasting? 2



18.

19,

20.

21,

22.

23.

9T T STROT # q4r sfaw 27

Complete the following : 141=2

() SO, + Hy0 + Cl, —

(i) H,S+H, SO, -

fAfoRad & o & -

() = SO, + H,0 +Cl, —»

(i)  H,S+H,S0, -

Silver has completely filled d - orbital (4d*®) in its ground state. How can you

say that it is transition metal? 2
fieaR oxATT] B A sravenm # qof URe d — FEE (4d10) ¥ | A9 BN
BT Whd © [$ T8 TH AHAV oeq 27

Complete the following : 2
(i) CH;.CH,.Br + KOH (aq) -

(ii) C,HsCl+ C,HsONa —

FriferRad o qur o

(i) CH;.CH,.Br + KOH (aq) -

(ii) C;HsCl+ C,H;ONa —

What are differences between DNA and RNA? 1+1=2
SloUHolo TAT 3RoTHoTo ¥ T 3R &7

Write the name and formula of monomer of the polymer, neoprene. 2
IgAD, A B Yhetd B A AT G ford |

Write briefly with one example 1+1=2

(i) Analgesics (i) Antiseptic
R ¥ U SeTE @ | fored |
(i) SS9 (ii) gfoRedy



24,

25.

26.

27.

28.

(Short Answer Type Il Questions)
(oTg I 119e )
Niobium crystallises in bec structure. if the density is 8.55 g cm™!. Calculate
atomic radius of niobium. Give that atomic mass of niobium is 93 gm mol™*.
ARIGTH BT fheCeIdHRUT bee WYEAT H BT & | & €9cd 8.55 g cm ™!
g A ARIfgH &1 weEves e @ e &e ) fear gem § f6

TRRRA T TRAGS T 93 gmmol 1 & | 3
Discuss the factor which influence rate of reaction. 3
AMfHAT & 9 Bl gWIAT FHA aTel HREB BT quiF B |

Define any two of the following terms. 1+1+1=3
(i) Lyophilic Sol (ii) Adsorption

(iii) Macromolecular Colloid
fFeferiiaa f=gl & wreal &1 afv9iia o |
(i) ATt Tt (ii) STfereToT

N EERIREECIRIES

How will you bring about the following transformation? 1+1+1=3
(i) Methanol to Methyl iodide

(ii) Benzene diazonium chloride to phenol

(iii) Ethanol to Ethene

frferRad alReads sy &8 o7

(i) HgHTe | AfYS eSS

(ii) IS STSSIIH FARSS | BArd

(iii) VAT | TfH

Write IUPAC names of following complex compound. 1+1+1=3
(i) [CO(NH3)6Cl3

(ii) [CO(NH;)sClCL,

(iii) K3[Fe(CN)g]




29,

30.

31.

frferRaa wifea dfral &1 amEogofiototilo AT ford

(i) [CO(NH;)elCls

(ii) [CO(NH;5)sClCL,

(iii) K3[Fe(CN)¢]

What is the factor which promote corrosion? 3

TR P 93 dTod HRD T 27

Complete the following : 1+1+1=3
() CH,NH, Na NOy/HCI
(i) CH,I KCN (alc)

(iii) CHsCN b Ao
Prerforfa o1 qof B

Na NO,/HCl

v

v

v

(i) CH3;NH,
(i) CH5l KCN (alc)
(iii) CH3;CN Na/Alcohol

(H]
Complete the following reaction : 1+1+1=3

v

(i) Cr,0,°" + Sn?* + Ht -
(i) MnO,” + Fe? + H* -

(iii) KMno, heat
1 arfafesar @1 got &

(i) Cry,0,%" +Sn?* + H* -
(i) MnO,” + Fe?+H* -
(i) KMno, bk

—_—



32.

33.

(Long Answer Type Question)
(@ ST gwe)
(i) What do you mean by depression in freezing point temperature?
(ii) Menthol is a crystalline substance with peppermint taste. A 6.2% solution
of menthol is cyclohexane freezes at 1.95°. Determine the molar mass of

menthol. The freezing point and molal depression constant of cyclo hexane

are 6.5°c and 20.2 k kg mol™!. 2+3=5

() RAi® § s F oM qur wwew £
(ii)ﬁ‘r@ﬁafﬁwﬁéé‘wmwaﬁﬁﬂfﬁaﬁwﬁ?r
Asdalleads § Feiid &1 6.2% fIo@9 1.95°% WR femda & Sirar 2
Feeflel 1 HieR wegAmT FufRa o% | aediReT & v fag ek
AIeR -7 ReRI® T 6.5° 3R 20.2 k kg mol-1 & |

OR/31erdT

A first order reaction is 20% complete in 10 minutes. calculate the time for the

completion of 75% of the reaction.
TS Y Pife o1 Jffhar 10 e & 20% qof & 2| afifbar & 75%
Qo B H o wHa A oy fBRg |

Draw the Structures of the following Compounds. 5
(i) Xe 04 (i) H, SO,

(i) H, PO, (iv) NO,

(v) PCl4

f=ifeRad diffrel & Svamr a9

(i) Xe Oy (i) H, SO,

(i) H, PO, (iv) NO,

(v) PCL5



34.

OR/3dr

Discuss the general characteristics of Group 15 elements with reference to (i)
Oxidation state (ii) lonisation enthalpy and (iii) electron gain enthalpy. 5
T 15 S Tedl B AT ORI BT TS (i) STARRNBROT G (i) I
el T (jii) goiag Wity TRl & W § fadeEr oy

Complete the following reactions : 1x5=5
ffoeas arfafsrar &1 gof & -
() CH;.CH,.0H Cu/573K
(i) CHsCO CL + H, Pd/BaSo,
OH
i) [ N CHCly/3NaOH_
£ 333k
(iv) CHsCoo~__ Distillation N
Ca
CHsCoo /
(v) CH; ~_ Alkaline K MnO,
CH.OH + [O >
CHy o}



OR/31edT

Write short notes on any three of the following : 1% + 1%+2=3
(i) Carbyl amine reaction (i) Fittig reaction
(iii) Gattermann reaction (iv) Hofmann's bromamide reaction

frafaRed & 9 fF= d9 = g fRuoh forg -
(i) PrETse THIA rfafshar (ii) fosfeTr arfafar
(iii) TrexET AT (iv) BIBE SHrTse i

10
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T ye At 2|
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Yd YT & WA 3 qIar T g |
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U HE&T 9 ¥ 15 & AT oY I yeE & RHer ulde &1 A 1
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U AT 16 ¥ 23 TP oY I -1 G & R IS &1 7149 2 3
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U AT 24 9§ 31 9P oY IR - 1T & NS 9hS BT 94 3 8
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U AT 32 9§ 34 TF 4" SR U & T ule &1 "M 5 3id
=




(Multiple Choice Type Question)

CRECIBAES))
Possible Co-ordination number of Cation of tetrahedral structural

arrangement is

(a)2 (b) 3

(c)4 (d) 6

TR T U PIfedl § Tl HUI DI HEAT Bl ©

(a) 2 (b) 3

(c) 4 (d)6

Unit of rate Constant for Thif4 order reaction , k is

(a) 572 (b) mol™*L s~

(c)mol™2 L% s™1 (dymol L™t s71

i B s B forg 4 Rerim, kA 3T

(a) §=* (b) mol™*L s7*

(c)mol™2 L% s™1 (d) mol L™t s71

CH3Br + 2Na + CH3Br Dry ethgr CH3 — CH3 + 2NaBr the reactionis 1
(a) Wurtz reaction (b) Fittig reaction

(c) Finkelstein reaction (d) Etard reaction

CHyBr + 2Na + CHyBr &6 ¥R CH, — CHs + 2NaBr 3ififshar &
(a) IS SrTAfHAT (b) fETT arfAfehan

(c) feaber arfarfehan (d) 3¢ rfAfehar

Cuprite is an ore of

(a) Fe (b) Cu

(c) Zn (d) Pb

FIUTEE 3D &

(a) Fe (b) Cu



(c)Zn (d) Pb

Consider the folowing reaction ethyl alcohol Cone. H,S0,/443K

The Product 'y' is

(a) Ethane (b) Ethylene

(c) Ethyne (d) Diethyl ether
o= arfaferar R faaR &

uforeT arehled TG H,S0,/443K

g 'y & ¥

(a) T (b) ZefTefi

(c) QTS (d) STETRIET 2o
The hybridisation of Xe F, is

(a) sp® (b) sp3d’

(c) spd (d) sp3d?

Xe F, &1 UHHOT ]

(a) sp° (b) sp*d*

(c) sp3d (d) sp3d?
Aldehyde and Ketone can be distinguish by

(a) Tollen's reagent (b) LiAlH,4

(c) HCN (d) None of these
ufeseTes ol ded § fhae gRT SR fhar &1 | B
(a) SforT arf¥eHe (b) LiAIH,

(c) HCN (d) 37 | BIg T8l |

) §

i



10.

11

12.

13,

14.

Consider the following reaction
N

{_ Na NO,/Hcl
HH;,_ 273k-278K .V
The product 'y' is
(a) Nitro benzene (b) Benzene diazonium chloride
(c) Benzene (d) Benzoic acid
o= arfaferar R faar &
<~
(/] Na NOZIHCI_
NH, 273 k- 278K
IS |y1 %\
(a) ATZET i (b) oI SEWITH FARIES
(c) d9i (d) SSTIgd 3fFe

(Very short Answer Type Questions)
(erfar &g SR ge)
For the reaction 2 HI = H, + I, what is the order of reaction?
ffhar 2 HI - H, + 1, & forg sifafshan @1 sife @1 &?
Write the diseases caused by deficiency of Vitamine D.

faerf= D& & F P |1 I B @ ford |

What is the Particle Size of Colloidal Suspension?

FIATSS! faerae & Uil BT BN T BT 87
What is the use of Poly vinylchloride?

UeNATE T FaRISS &1 ST &1 87

Write IUPAC name of CH; - CH = CH - C(Br) - (CH3),
CHy-CH = CH - C(Br) - (CHs), T dgoyodloUoHlo M ford |
Give one example of Enzymes.

SoIgH &7 Udh Iaevl |



19,

16.

: 5 8

18.

19.

(a)
(b)

(b)

20.

Give an example of antiseptic.
UicRREl &1 U IaTER < |

(Short Answer Type | Questions)

(oTg SR | 9%+)

Distinguish between electro chemical cell and electrolytic Cell.
T IERIAE A TT Igd rFe A A fadg B |
What is role of silica in the metallurgy of Copper?
SR B P § Riferer A 7ar wfier 27
Complete the following :
(i) HBr+H, SO, —
(i)  MnO,+HCI -
ferferRaa &1 UxT PN
(i) HBr+H, SO, —
(i)  MnO,+HCI -
Give reasons for the following
Zn Shows only + 2 Oxidation State in its Compounds.
The transition metals and their Compounds act as good Catalyst.

f=fofRad & sRor 9ar
Zn 31 GIfThT H Dael +2 ATRITHROT FaRRJAT ST 2 |

1+1=2

1+1=2

AT ETE T §9d 3 e ITH IS Dl DR R & |

Complete the following :

(i) @—Br + Mg Anhvdrous ether -
Dry ether
(i) CH,Br + 2Na +<)Br 4 >
Pretferfad @1 qof &%
IS 2R

(i) @—Br + Mg

(i) CH3Br + 2Na +<)—Br

v

T PR

Y

1+1=2



21.

22

23.

24.

25.

26.

What is the difference between nucleoside and a nucleotide? 1+1=2
YFAIS S TAT YIAdICigs § T 3R 87
Write the name and formula of monomer of the Monomer of the Polymer, 2

PVC.
98B, PVC D Thad ST A1 a1 g3 ford |

Write briefly with one example. 1+1 =2
(i) Disinfectants (ii) Antacids.

it # U IRV B W ford |

(i) STABHOTHIRI (ii) TRt

(Short Answer Type Il Questions)
(oTg STRIT 1193 )
Silver Crystallises in a fcc lattice. The length of the edge of the unit cell is

4,077 x 1078cm and the density of silver is 10.5g cm™'. Calculate the

atomic mass of silver. 3
&) BT fohecalidRol foc Siicld § BIAT 81 SADI BICHI H DRI DI
TS 4.077 x 108cm B T @i @ g9 10.5 gm cm ™! B @l dldl
HT YOG AT 14 o |

Define rate of reaction and rate constant. 3
affpar & I qen a7 Reris &1 aRkwiia &1 |

Define any two of the following terms. 1+1+1=3
(i) Coagulation (i) Gold number

(iii) Adsorbate ;

feriferRaa foeesl <1 wreal &1 g fobforg |
(i) T (ii) wqol Hwer
(iii) rfereTrsy



27,

28.

29.

30.

How will you bring about the following transformation? 1+1+1 =3

(i) Propanal to Propan-1-ol (ii) Chlorobenzene to Phenol

(iii) Benzyl Chloride to Benzyl alcohol

fa=feRad ofRad= amu &9 H3a?
(i) IOl | WIuH—1—3iTof (i) FART S99 T BT

(iii) I~ FeiRIES | If~oTd Tohied

Detérmine the Oxidation States of the Central metal ion in the following
complex compounds. 1+1+1=3

(i) Ni(co),

(i) [co(NH3)g|cls

(iii) [Ag (NH3),]cl

FfaRed Sfea Affiel & Sty gifcad = @ sraiieoror Fer
qamy |

(i) Ni(co),

(i) [co(NH3)glcls

(iii) TAg (NH3),]cl

What is electrode potential? write types of electrode potential. 3
soigers favg | 87 golaers [0d & UaR ford |
Complete the following 1+1+1=3
(i) CH;CO0 LiAlH, .
el g
| N
(ii) z Sn/HCI _
HOQ_ 4
(i) Hyo/w* |
\\\Y; heat
Nz% .
frfeRad ! gof &
(i) CHsCooH LiA/H,
C_) L
L
o
(ii) z Sn/HCl R
{ - >
N 01.
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A4

(i) N\ Hyo/RT
SIS

Nyed
Complete the following reaction :
(i) Cry,07% + HY + Fe?*t -
(i) M,0,~ +I~"+H* -
(i) M,0,” +C, 0,>” + H* -
Pt i B Qo N
(i) Cr,07% + HY + Fe?* -
(i) M,0,~ +1~"+H* >

(i) M,0,” + C, 0,>” + H* >

(Long Answer Type Question)
CERSHNCRES)

(i) What do you mean by Azeotropes?

1-1-1=3

2+3=5

(ii) 18 g glucose (csH1206) is dissolved in 1 kg of water in a saucepan. At what

temperature will water boil under 1.013 bar pressure? Given Kb for water is

0.52 k kg mol ™.
(i) ReRear | Mg a1 FHeId 27

(i) T \FEUT | 1 kg STel A 18 g DI (cgHy20,) DT HIAT TAT| 1.013
IR €9 B i ot e A" W) Sea? foar 8 fb Sid & forg kb @

A 0.52 kkgmol 1 & |

OR/31Yd1

A first order reaction is 20% complete in 10 minutes. calculate the time for the

completion of 75% of the reaction.

5

we werd @i afafkar 10 fee § 20% gof Bl ? | sHe 75% i €19

feperT THT S|



Draw the Structures of the following Compounds. 1x5=5

(i) Xe Fy (ii) Hp S,04
(iii) H3 PO, (iv) N, 0,
(v) PCls
f=ferRaa Aiffre! &1 \vg=T a9
(i) Xe Fy (i) H, S,05
(iii) H; PO, (iv) N, 0,
(v) PCIg

OR/372rdT

Write the Conditions to maximise the yield of ammonia by Haber's process.
what happen's when N H; reacts with (i) Na (ii) CO,?

BaR UHH & ST SMIMAT & IATGH de H 3Maeid el & ford |
T BT & o9 NH, 9 3¥fafehar &=ar & (i) Na (i) CO,?

Complete the following reactions : 3+2=5
frfaRaa rfafear &1 gof &
(i @ +CoHsCoCl__Anhydrous Al Cly

(iii) CHs
\C=0 + HCN 5
CHy /
(i) CHy. CHO+ +HI Red P N
420 K
(iv) CH; COONa + NaoH - o I
’ HEAT
(V) HCOOH H2504
Heat



OR/31efdT
Give one chemical test to distinguish between the following : Ix5=5

(i) Methanol and Ethanol (ii) Propanal and Propanone

(i) Formic acid and Acetic acid

U YRS AWfHar & gRT 79 & 3R sdi 1%+ 1% +2 =5
(i) AT e vt kii)mﬁﬂa GRIRCICEIG]

(iii) BIfH® 3T e vAfed
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